[ Efficiency vs vertpos |
-~ 0.5

TP SRS N S— —

2 : : : :

O po po

Q F . . .

[ el SRR R R s

S _F : : E

5 03;_ """""" T T
0.25f e eeeeieenenenens RS e

0.2f o+ oo oo ]

S

0.1--------- et gt

0.05 MM}H,

L AT
o 10 T
2 :
IS -
g 1 :
1 HEe S
1|
0.9F HHYTEL
o - +
0.8E

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_original_stepZ_libar-phasel-newgeom
M_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQ |
Efficiend —— D8M_pixelCPETempIateCut hiSquare5_step2_ttbar-phasel-newgeom
—+— D

M_pixelCPETemplateCutChiSquare5Test_step2_ttbar-phasel-newgeom
~0.05
-

L S S

o E : ; : : :
L R S L
oy F : . . . :
V1| SR SR SR S SN e
‘O E . . . : .
£0.03- L R ERRE PEPREPRS e PR
o o . : : : :
X073/ SRR HORRE RO RN SN S
9% SN W1 T B
OXCHTS SRR RRE S RH e S0 N RS I
O S el L I SR S
0.008f +++++vfereeeeide o L
S\ S D 1 N 0 N S
2 oo E 1111 O S
© ot :
]__— ------------------ RS

30 =20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~0.05
>
00.045
S
#0-04
$.035
3
£0.03
Q
$9.025
()
0.02
0.015
0.01
0.005

10Q

.........................................

.........................................

Ratio

iy

5 10 15 20
Sim. PV z (cm)

0.8

[
o
O— i
o



	Contents
	Page 1


